Algebra II: Review Test 3.2 Quadratic and Square Root Functions Name:

Period: Date:

Let f(x)=2x+9 and g(x)=3x—1. Perform the indicated operation.
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Let f(x)=—x+4, g(x)=x",h(x)= % . Find the indicated value.
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Graph the equation and graph the inverse in a different color. Restrict the domain so that the inverse is
a function. Find the domain and range of both the function and its inverse.
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Find the inverse algebraically.
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Verify that f and g are inverse functions.
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Solve each equation. Be sure to check for extraneous solutions.
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